Identifying the economic problem

What is economics and the economic problem?

In simple terms it is the study of how economies use their scarce resources to satisfy wants.  This is known as the economic problem.  

In practical terms, the economic problem shows us that humans have unlimited wants and that these unlimited wants need to be satisfied, however there are only so many resources to go around.  This is why they are called scarce.  

Wants are characterised by the following:  Give examples in the spaces below.

Vary from person to person

__________________________________________________________________

Vary from time to time

Some wants are recurring

Some wants are complementary

Some wants are collective

The main characteristic of wants is that they are UNLIMITED!!!
Activity

Caitlyn is a yr 11 student at Seritage College.  She is hoping to do really well this year, particularly in economics, not only because it’s her favourite subject, but also because she wants to do it at Uni eventually.  She recently got her drivers licence and has bought a beat up old bomb that she does up in her spare time on the weekend.  She lives at home, has a part-time job at Pizza Hut, and enjoys playing soccer on the weekend to keep her healthy.  She hates feeling gross.
From the above scenario, give examples of 

Needs

Wants

Recurring wants

Complementary wants

Why can wants never permanently be satisfied?

Goods and services
Satisfying our wants is done through goods and services.  Goods are tangible E.g. a billabong t-shirt, while services are intangible E.g. an economics lesson.  You can’t carry a service away with you from the shops.
Consumer goods and services are those that directly satisfy consumer wants E.g. bread.  Capital goods and services are those that are used to produce something else.
	Item
	Good
	Service
	Individual
	Collective

	CD
	
	
	
	

	DVD player
	
	
	
	

	Roads
	
	
	
	

	Hospital
	
	
	
	

	Haircut
	
	
	
	

	Oranges
	
	
	
	

	Heritage college
	
	
	
	


Why does the government provide collective goods and not private companies?
Explain why capital goods are important for a countries productive capacity?

Resources
Resources are anything that is used to produce goods and services.  They can be grouped into the following groups

· Land – Any natural resources E.g. oil, minerals, farm etc…

· Labour – physical or mental human effort E.g. employees

· Capital – produced means of production E.g. a machine used to create metal rods 

(NB – in Economics capital does not mean money)

· Enterprise – A person who can co-ordinate resources so that they’re used efficiently.  E.g. individuals with entrepreneurial skills who can generate more income.

Activity

Classify the following items:
	Item
	Land
	Labour
	Capital
	Enterprise

	Solar energy
	
	
	
	

	Economist
	
	
	
	

	Hammer
	
	
	
	

	Bread
	
	
	
	

	Bricklayer
	
	
	
	

	MP3 Player
	
	
	
	

	Lawn
	
	
	
	

	Pie warmer
	
	
	
	

	Wheat
	
	
	
	

	Prime minister
	
	
	
	

	Water
	
	
	
	


Why is money not a capital resource?

Explain why all societies are faced with the economic problem

The three economic questions
As we’ve seen, there are unlimited wants and limited resources.  How then do we decide what wants that we’re going to satisfy?  In every economy we’re faced with 3 basic questions that need to be answered.
What to produce – Resources can only be used for one thing at one time E.g. A wheat farm can only be used as a wheat farm now, not as a canola farm.  That may be able to change in the future, but not at this present point in time.
How to produce – How are these scarce resources going to be used.  E.g. you want to produce wine, are you going to get a mechanical grape picker or are you going to do it by hand?
For Whom – Who is going to get the output?  
Each economy has choices in relation to its scarce resources and how they’re going to be used.

SCARCITY LEADS TO CHOICE


[image: image1]
Activity
Explain what is meant by the following questions

What to produce

How to produce

For whom to produce

Complete the following table by showing what kind of decision is being made in each example

	Example
	What
	How
	For whom

	Govt boosts defence and cuts spending on roads
	
	
	

	Govt raises tax on luxury cars


	
	
	

	Banks reduce number of branches but increase ATM’s
	
	
	

	Govt increases doll payments


	
	
	

	Mitsubishi introduces robots to make their cars
	
	
	


Give an example of production that is

Labour intensive

Capital intensive

Opportunity cost
When economies make decisions on the three questions there are going to be things that are left out.  E.g. if you were to make a vegemite sandwich, you would forego the opportunity to have a peanut butter sandwich.  This is known as an opportunity cost.  It is probably best described as the alternatives foregone in order to obtain something else.
Activity

Explain what Opportunity cost is in your own words

Give a personal example

If a farmer decides to grow wheat, give an opportunity cost

Production Possibility Curve
The Production Possibility Curve (PPC – also known as the Production Possibility Fronteir or PPF) shows the possible combination of two goods an economy produces if it uses all of its resources and the best available technology

This is an economic model that shows the economic problem and opportunity cost and therefore simplifies real world situations by making a number of assumptions:

· Only 2 goods are being produced

· The quantity of resources is fixed

· Technology is fixed

· Resources can be transferred from one good to another

Assume that an economy is only producing baked beans and spaghetti.  The following table shows the possible production combinations.  E.g. Point A shows that if the economy allocated all of its resources to baked bean production it could produce 50,000 cans of baked beans and no spaghetti..  

	
	A
	B
	C
	D
	E

	Baked Beans
	50,000
	40,000
	25,000
	15,000
	0

	Spaghetti
	0
	29,000
	43,000
	48,000

	50,000
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Spaghetti
It is impossible to operate at Point F because there are not enough resources available to produce there at this point in time.  

Point G shows that the economy is not producing as much as it could be.  Perhaps demand is not strong enough to produce on the curve?

What is the opportunity cost in moving from Point C to Point E?

How can the PPF move?

There are only a two ways that the PPF can move.  Those being an increase/decrease in either resources or technology.  





New resources of new technology will move the curve to the right.  A decrease will have the opposite effect.
What if there was only an increase in on area?  E.g. Baked bean resources increased?



Baked beans

          Spaghetti

Important!!

It is important to realise that if demand for a product changes that this does not affect the PPF.  It will however affect your position along the curve or within the curves area.

Activity

Examine the diagram below and answer the following questions
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What is the opportunity cost of moving from point B to D?

Give three reasons why you may be operating at point A

Why can’t the economy operate at point C right now?

Why will an increase in demand not increase the PPF?

In the spaces below show the effects of the scenarios on the PPF’s




New disease resistant wheat developed 
New variety of grape that produces more juice


High levels of unemployment



Large increase in the population



Increase in consumer demand for both cheese
Floods ruin the Mitsubishi 

And apples





factory
Reviewing the Economic Problem
Draw a mind map on a blank piece of paper or in your book making sure that you link the following words around the general theme of “The economic problem”.

In your mind map make sure you include all the following words

· Collective wants

· Recurring wants

· Complementary wants

· Needs

· Unlimited

· Goods

· Services

· Land

· Labour

· Capital

· Enterprise

· How to produce

· What to produce

· For whom to produce

· Scarcity

· Choice

· Opportunity cost

· Traditional economy

· Planned economy

· Market economy

· Effects of change – make sure you outline some 

· Give examples of countries that have undergone change

· PPF

An example of how to draw a mind map is over the page.  The title is ‘questions’.
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